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46 X5 36X3-26X3
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54 X5
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25X52
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25X 36 27X6+13X6
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32X6+28X6 36X5 25X 24
53X4-13X4 54X 3+16X3 62X5
36X 125X8 25X 60 76 X9-26X9
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42X4-12X4

66 X5

25X 40
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68 XT7+22X"] 25X 28
4o X6+ 14X6 53X 3-33X3
28 X5 52X8X 125

2TOEET V> MWebH+ M SERTH O O— RTEET,

https://Z& 7Y > .com



R HE

F B &

HENEFYEESL-DITEDORBZE (5)

FEOETEIY 2E-T 3D LTEHELZEL £,

34 X5
51 X4-11X4
68X 3-48X3
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25X 16 54 X6+16X6
477X 125X 8 39XT+21 X7
25X 68 68 X5
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25X 56

54 X5

48X9-38X9

. R INPE - REEREY OVENPE LU~
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38X T+22X"7 | 25X 63 X8
T3X4-23X4 62X3+18X3
86 X5 25X 72
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54X 6-24X6 84 X5 25X 32
64 X3+16X3 55X9-25X9 28X 125X8
38X5 25X 44 36 X4+24X 4
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25X 20

56 X5

43X3-23X3

. R INPE - REEREY OVENPE LU~

By .com

69 X4+1 1| X4 37 X7-27X"7
125X 19X8 4] X6+29X6
25 X176 52X5
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25X 12=25X(4X%3)
=(25X4) %3
=100X3
=300

16X 6+24X 6 =(16+24) X6

=40X6
=240

25X 48 =25X (4% 12)
=(25X4)X |2
=100X |2
= 1200
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46X5=(23%X2)X5
=23 X (2X5)
=23X10
=230

53X 4-33X4=(53—-33) X4
=20X4
=30

64X5=(32X2)X5
=32X(2X5)
=32X10
=320

36X3-26X3=(36—-26)%3
=10x3
=30

125X 27X 8 =(125x8)X27
= 1000X 27
=27000

48X T+12XT=(48+12)X7
=60X7
=420
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54X5=(27X2)X5
=27 X (2X5)
=27X%X10
=270

4T X427 X b= (47— 27) X 4

=20X4
=380

25X52 =25%X (4% 13)
=(25X4) %X 13
=100X |3
= 1300
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A
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25X36 =25X%(4X9)
=(25X4) X9
=100X9
=900

125X 14 X8 =(125X8)X |4
=1000X |4
= 14000

28X T+32X7=(28+32) X7
=60X7
=420

27TX6+13X6=(27+13)X6
=40X6
=240

48 X5 =(24X2)X5
= 24X (2X5)
=24% 10
=240

62X 8-52X8=(62—52)%8
=10X8
=80
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32X 6+28%6 =(32+28) X6
=60X6
=360

53X 4-13X4=(53—13)x4
=40x4
=160

36X 125X8=36X%X(125%X8)
=36 X 1000
=36000
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A
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36 X5 =(18X2)X5
=|8X(2X5)
=18X10
=180

54X3+16X3 =(54+16)%3
=70x%3
=210

25X60 =25X (4% 15)
=(25X4)X |5
=100X 15
= 1500
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25X 24 =25X(4X6)
=(25X4) X6
=100X%6
=600

62X5 =(3] X2)X5
=31 X(2XDH)
=3I1X10
=310

76 X9-26X9=(76—26) %9
=509
=450
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42X 4-12X4=(42—|2)X4

=30X4
=120

66 X5 =(33X2)X5
=33X(2X5)
=33X 10
=330

25X 40 =25%X (4% 10)
=(25%X4) X 10
=100X |0
= 1000

KR - NP - AR OB E T Y YA

A
B+3 IM.com

68X T+22X7 = (68+22)X7
=90 x7
=630

46X 6+ 14X6=(46+14)%6
=60X%6
=360

28X5 =(14xX2)X5
= 14X (2X5)
=14%10
=140

25X 28 =25 (4X7)
=(25X4) X7
=100X7
=700

53x3-33X3=(53-33)%3
=203
=60

52X8X 125=52X(8X |25)
=52X 1000
=52000
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34X5=(17X2)x5
= 17X (2X5)
=17x 10
=170

51 X4-11X4=(51—-11)X4
=40X4
=160

68X 3-48X3=(68—48)X3
=203
=60

IR - INPE - AR OENPE UV~

A
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25X 16 =25X (4X4)
=(25X4) X4
=100X4
=400

47X 125X8=47%X(125X8)
=47 X 1000
=47000

25X 68 =25X (4% 17)
=(25X4)X |7
=100X% 17
= 1700
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54X6+16X6 =(54+16)%6
=70%6
=420

39X T+21 XT=(39+21)x7
=60X7
=420

68 X5 =(34X2)X5
=34 X (2%5)
=34X10
=340
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25X56 =25X(4X 14)
=(25X4) X |4
=100X |4
= 1400

54X5 =(27X2)X5
=27 X (2X5)
=27x10

=270

48x9-38x9=(48—38) %9
=10x9
=90

IR - INPE - AR OENPE UV~

A
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38X T4+22X7 =(38+22) X7
=607
=420

T3X4-23X4 =(T73—-23)X4
=50X4
=200

86 X5 =(43X2)X5
=43 X (2X5)
=43X 10
=430
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125X 63X8=(125X8)X63
=1000%63
= 63000

62X3+18x3=(62+18)x3
=80x%3
=240

25X 72 =25X (4% 18)
=(25X4)%X 18
=100X 18
= 1800
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54X 6-24X6=(54—24)X6[“4 84X5=(42X2)X5

=30X%6 =42 X (2X5)
=180 =42% 10
=420

64X3+16X3 =(64+16)X3 55X 3-25Xg=(55—-25)X9g

=80X3 =30X%9
=240 =270
38X5=(19%X2)x5 25X 44 =25X (4% 11)
=19 X (2X5) =(25X4) X | |
=19X% 10 =100X 1| |
=190 =1100

KR - NP - AR OB E T Y YA

25X32 =25X%(4X%8)
=(25X4) X8
=100X8
=800

28X |25 X8 =28 X (125X 8)
=28X 1000
=28000

36 X 4+24X 4= (36+24) X 4
=60X4
=240
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25X 20 =25X% (4X5)
=(25X4) X5
=100X%X5
=500

56X5=(28X2)X5
=28X(2X5)
=28X%X10
=280

43X3-23X3=(43-23)X3
=20%3
=60
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A
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69X 4+ 11 X4=(69+11)x4
=80X4
=320

125X 19X8 =(125%x8) % |9
=1000% |9
= 19000

25X76 =25%X(4X%19)
=(25X4)X 19
=100X |9
= 1900
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37X7-27X7 =(37—27)X7
=10x7
=70

41 X6+29X6=(41+29)X6
=70%6
=420

52X5 =(26X2)X5
=26 X (2X5)
=26X10
=260
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